Class - IX
el - IX
SCIENCE

fasma

Time : 3 to 3VY2 hours Maximum Marks : 80
T : 39 31, T ARy 27 : 80

Total No. of Pages : 15
FA g1 &t §eA : 15

General Instructions :
The question paper comprises of two sections, A and B. You are to attempt both the sections.
All questions are compulsory.

There is no overall choice. However, internal choice has been provided in all the three questions
of five marks category. Only one option in such question is to be attempted.

All questions of section A and all questions of section B are to be attempted separately.

Question numbers 1 to 4 in section A are one mark questions. These are to be answered in
one word or one sentence.

Question numbers 5 to 13 are two mark questions, to be answered in about 30 words.
Question numbers 14 to 22 are three mark questions, to be answered in about 50 words.
Question numbers 23 to 25 are five mark questions, to be answered in about 70 words.

Question numbers 26 to 41 in section B are multiple choice questions based on practical
skills. Each question is a one mark question. You are to choose one most appropriate response
out of the four provided to you.

An additional 15 minutes time has been allotted to read this question paper only. During
this interval you are not to write any thing on the answer book.
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10.

11.

SECTION - A

The potential energy of a free falling object decreases progressively. Does this violate
the law of conservation of energy ? Why ?

Calculate the work done when a force of 15 N moves a body by 5 m in its direction.
What are the two forms of oxygen found in the atmosphere ?
What are the biotic components of biosphere ?

Two blocks, one of iron and other of wood are immersed in water at same depth.
Which one will come upward ? Why ?

(a) Define relative density

(b)  If the relative density of a substance is less than 1, will it float or sink in water
support your answer (Density of water =1000 Kg/m?)

(a) Which wave property determines
(i) loudness (ii) pitch
(b) Why are the ceilings of concert halls curved ?

The following data represents the distribution of electrons, protons and neutrons in
atoms of four elements A,B,C, D.

Element Protons  Neutrons Electrons
A 19 21 19
B 17 18 17
C 17 20 17
D 18 22 18

Answer the following questions :-

(i) Describe the electronic distribution in atom of element B.
(if) Is element B a metal or a non - metal ? Why ?

(iii) Which two elements form a pair of ISOTOPES ?

(iv) Which two elements form a pair of ISOBARS ?

(a) Write down the names of compounds represented by the following formulae.
(i Ca (OH),
(i) K,SO4

(b) Give two examples of bivalent cations

What are gymnosperms ? Give two characteristics

(a) State two characteristic features of nematode

(b) Identify the phylum with the help of following features :-
(i) Spiny - Skinned, radial symmetrical and have tube feet.
(if) Triploblastic, worm - like, having segmented body.
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12.

13.

14.

15.

16.

17.

18.

19.

20.

How are clouds formed ?
Name the green house gases. What causes Global warming ?
Write three medicinal applications of ultrasound.

(a) Define the term ‘Energy’. Give its unit.

(b) Is it possible that a force is acting on a body but still work done is Zero ? Explain
with an example.

In the figure given here, a displacement-distance graph for a wave is shown. The
wave velocity is 320 m/s.Find

(a) Wave length
(b) Frequency
() Amplitude
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(a) State the law of conservation of mass

(b) What mass of silver nitrate will react with 5.85g of sodium chloride to produce
14.35 g of silver chloride and 8.5 g of sodium nitrate if the law of conservation
of mass is true.

Calculate the following quantities in 5.6 g of nitrogen [ Atomic mass of N = 14 u]
(@) Number of moles of N,
(b) Number of molecules of N,

() Number of atoms of nitrogen.

Differentiate between the following , giving one main point of difference .
(a) Gymnosperm and Angiosperm

(b) Diploblastic and Triploblastic animals

(c) Dicotyledons and Monocotyledons.

(a) Define “disease’.

(b)  Explain briefly the two groups of causes of diseases.
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21.

22.

23.

24.

25.

It is diagnosed that Seema suffers from Malaria. Which organ of seema is affected.
(a) Which microbe is responsible for this diseases.

(b) What is the system of this disease
How do diseases spread through air ? Name two such diseases.

Draw a neat and labelled diagram of illustrate nitrogen cycle. Mention the main steps
involved in this process.

OR

Explainthe two main processes that maintan CO, % in the atmosphere. Draw carbon
cycle in nature. maintain the steps involved in carbon cycle ?

(a) Define kinetic energy and deduce an expression for kinetic energy of a body of
mass ‘m’ moving with a velocity ‘v’

(b) A bag of wheat weighs 50 Kg. Calculate the height to which it should be raised
so that its potential energy is 5000 J (g=10 ms™).

OR
(a) Define power. Write its S.I. Unit.

(b)  An electric heater of 1500 watt is switched on for 10 hours. Calculate the
electric energy consumed by the heater.

() Name the appliances which work under the following energy transformation.
(i)  Sound energy into electrical energy

(i) Heat energy into mechanical energy.

(a) In the gold - foil experiment, what observations led Rutherford to conclude
(i)  Most of the space inside the atom is hollow.
(ii) The central portion of the atom is positively charged

(iii) Volume occupied by the nucleus is very small as compared to the total
volume of the atom.

(iv) Almost the entire mass of the atomic concentrated at its centre.

(b) Identify the element and write electronic configuration of the atom represented
by X
OR

(a) Describe Thomson’s model of an atom with the help of a diagram.

(b)  If bromine atom is available in the form of two isotopes ZgBI‘ (49.7%) and géBr

(50.3%) calculate the average atomic mass of bromine atom.
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26.

27.

28.

SECTION - B

The correct way of reading the liquid is shown in 1
A B C D
(a) Figure A (b) Figure B (c) Figure C (d) Figure D
A solid was measured for its mass from the spring balance shown below. The mass of 1
the solid is
(@) 110 g (b) 100 g () 90g d 8g
In the experiment to establish the relation between loss in weight of an immersed solid
with the weight of water displaced by it, the correct setup is shown in figure 1
Thin Thin
¢— cotton—p —— jute —p
thread rope

https://www.evidyarthi.

in/



29.

30.

31.

32.

33.

While determining the density of a copper piece using spring balance and measuring
cylinder, Ankita carried out the following procedure

(i) Noted the water level in the measuring cylinder without the copper piece.

ii

~—"

immersed the copper piece in the water

iv) removed the copper piece from the water and immediately weighed it using a
spring balance.

(
(iii) noted the water level in the measuring cylinder with the copper piece inside it.
(

The wrong step in the procedure is :
(a) step (i) (b) step (ii) (c) step (iii) (d) step (iv)

An iron cuboid of dimensions 100 cm X 50cm X 10 cm when placed on a bed of sand will
depress the sand bed the most when it is made to lie on the face having dimensions.

(a) 100 cmx10 cm (b) 100 cm x50 cm
(¢) 50 cmXx10 cm (d) None

To observe and compare the pressure exerted by the three faces of cuboid on sand,
the following apparatus is available in the laboratory.

(i) Iron cuboid of dimensions 12 cm X6 cm X3 cm

(i) aluminium cuboid of dimensions 12 cm X6 cm 3 cm
(iii) coarse sand in a tray

(iv) very fine sand in a tray

The best choice would be :

(a) iron cuboid and coarse sand

(b) aluminium cuboid and coarse sand

(c) iron cuboid and fine sand

(d) aluminium cuboid and fine sand

For the given diagram the value of y is

@) 60° b)  30° (c) 45° d) 15°

The sound received in the ears while doing the experiment should be :
(a) the direct sound from the clock.

(b) The sound reflected from any reflecting surface.

(c) the sound coming through the tube after reflection.

(d) any of these.
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34.

35.

36.

37.

On a slinky, one can produce
(a) only a longitudinal wave
(b) only a transverse wave
)

(

(d) neither longituduval wave nor a transverse wave.

both longitudinal wave and transverse wave

A student setup a slinky on a smooth table top in the manner shown here :

Smooth Table

L !

How can he produce transverse waves in the slinky by moving its free end Q ?
(a) at an angle of 45° with the table top.

(b) backward and forward along the length of the slinky.

() up and down.

(d) left and right.

The important features that can help a student to identify spirogyra under the microspe
are :

(a) filamentous structure.

(b) green - coloured cylindrical cells.

(c) Spirally - coiled chloroplasts and filament like structure.
(

d) thick cell wall and large central vacuole.

The parts marked A, B and C in the following plants are

(a) Gills, Pileus and stipe (b)  Gills, Stipe and Pileus.
(c) Pileus, Gills and stipe (d) Stipe, Gills and pileus.
7
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38. The plant part that bears spores in the following is 1

39. The pinus is characterised by : 1
(a) Short tree with heavy branches.
(b) two types of shoots and two types of cones.
(c) large scented flowers.
(

d) large fruits bearing seeds.

40. Which of the following feature places earthworm in its phylum ? 1
(a) Segmented body (b)  Elongated body
(c) Mouth (d) Anus.

41. Which of the following organisms A,B,C and D have common features that place them 1
in the same phylum ?

(@) AandB () Band C (¢ Cand D (d) A and D.

-00o0-

https://www.evidyarthi.in/



10.

11.

o ug - A

T b & § A et ag w1 Ferfos S ST ®9 W HH B 8 | 7 A8 ool W s 1

Frm 1 SeeTeeE R €2 7l 2
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Agred | R S Sel SRS % < €9 1T 2
Sered & e STed T § ?

T T, T IS 1 TN T RSl 1 STl H UM Tl W SaE T T HIF A SHW i 2

3R TR ? /i 2
(a) STUfeeh oM i qRT ST |

(b) e T vered 1 STk S 19 & T, T I8 ST H Q0T A1 S S 2 3T I

1 98 SIS | (ST 1 B = 1000 Kg/m3)
(a) 1 1 A A1 T feifa war €2

()  HereAdn () fr=
(b) HfieTEST H BA a6 F B § 2

frAfafed sfishe IR d@ll A, B, C, D & TH[ST | Soiaeil, UIeHl a1 =gl o1 faawo 2
frefa 3 71

qed EICiE] 22 ST

A 19 21 19

B 17 18 17

C 17 20 17

D 18 22 18
Frfafaa g & 3w T :

() T B WRHIY H ook ¥l Sl U ehiferd |
(i) T T B UH UG € A T AAG ? Hi 2
(iii) M W I T FEEITRI T T T T 2
(iv) F 9 q T Tl 1 g T 2

~

(a) TrAfafea g gr1 fefua Aifet & M fafaw)
(i) Ca (OH), (i) K,S0,
(b) Ts-Harsr &aEAT & <A 3T ST

SHFAsTS R 7 3Tk T AT Sy |

(a) TR & < Tl el 1 FoiH Hifsr )

(b) Trferfiea &on =t HerEdl | o sl Yg= whifey :
(i)  hereh T AT, 3XA: HHMG a1 A 9]l arer
(i) TR, Hfa-wgw, Gfea T amn
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12.

13.

14.

15.

16.

17.

18.

19.

20.

et o fmior Y S § 2
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(b) o I TEE ¥ TR U 90 U fie W o gen § Weg a« off TR e el e 72

Teh 3SR o G1e AT HifSIU |
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(a) THHM & o 1 U HifeT |

(b) A SR HRaro o g 9§, faeer ege &1 fohd 1 gomm 5.85 g Hifeaw
FAEE o WY T FAREE o 14.35 g A1 HIfeaH e & 8.5g Iclfad HH &
fera srfufshan s

5.6 g AEers H frefafed AEnet o1 afisher HIfST [N 1 W] g98H = 14 u]
(a) Nziﬁﬁml

(b) N, Ui =t G|

(c) IEIISH o YLHTLST hi HE&A |

T e fog &l <d g, Fefafead # s sifs
(a)  STATSIASITS e SATedsiTsi |

(b) Tg-=Ihl e F-=ieht St |

(c) Tg—<iiSos=it qen Te—sfisost |

(a) ‘T =t g S
(b) T o FHRTN ok I TG BT H&Y H UM FHIfSC |
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22.

23.

24.

25.
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(a) 39 I & fAU A T1 AM0] ST § 2
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aAgHSA H CO,% ol STREV HIH el Tl JeH YohH] o1 a0 hifS(q | Fepfd H e =h
STRFEA ISIT | 16l =oh § TG RN i AN il |

(a) It STt skt afkeren SfSTT dem g9 ‘m’ % U e S o o’ % W ifaeE ®, w6t
TSt St o felt Teh 2isfen scael shifo |

(b) V& T TH SR B IR 50 kg T 3T o, T T 98 SSE W =1Teq, o1 uiehe
Hifere | o sHent fearfast ST 5000 ] &1 5™ (g=10 ms2) |

ar
(a) wfd =t Ry S g&eh SI AR fafEw |

(b) WH 1500 AT o ATA 9k (EIeX) 10 T o TIC =1e] W 71 | A9 GRI 3L
1 TS A FoTl ol THeher HIToTT |

(c) e o AW ST, S FeAfafEd Sl SR & ST w1
() = e Aga el o | (ii) 7Y Sl AR Sl H |

(a) HIM %l 9 & FAN H fohd Gerll g1 Ihie A Frehd frhred, fon
(i) IRE] % iR BT AR T Wredt ¥
(i)  TRHEIY T hE T AN EAERE |
(iii) TRYH GRI STEANA ST TRATY o Pl STFA i Gl | HIHl & Bl § |
(iv) AT 1 9T HYOl SHH 3Heh e T hf=d 8|

(b) gx BRI TTEfUa o] 1 seraeites fam=ame fafae qen 39 9 &l 8= |

aa
(a) TIHAEA o TRHIY] HiSA 1 Teh TG i TSRl § JUM HITSC |

(b) e SR 9T < FEEenfent Z?)Br (49.7%) qem iéBr (50.3%)% &9 H s §1 Al

S TXEI] % 3T IXHIY] SHHH 1 YRt Shifed |
©ug - &
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32.

33.

T AR ol q1 719 FfeT=et 1 TN lch Tk W o ohe hl T HRd 1

Ty, iferar 7 frafataa ufsean e1o |

() o TR & Tohe & AOH fafaet # S &1 da e foman)

FHIT % THhS hl ST H AT |

ii
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(
(it) T Fafeet § ST *1 T IR & Ihe hl IHeh <L SR Ale fhAT|
(

iv) RIW o Tohe ol STl H WX FhTer qem gd 39 HHITRR Tl T JART ik drel |

s | Teld =10 ©

(@) = (i) (b) =GE) (o)

=R (i) (d)

= (iv)

T 100 cm X 50 cm X 10 cm Tom1sTi i1 @lig okt FHIa TEheish & Xd o ddl 9 @l 1

T, QY o I Shl Tk oM STa 39ehl 1= fomneT ol wetes W W T |

(a) 100 cmx10 cm (b) 100 cm x50 cm  (c)

50 cmX10 cm ()

fordlt o &
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1
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(
(
(iii) T AT H T 4 |
(iv) T o1 § ogd ok ¥ |
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a) TIg SelehiioTeh HHIR TEWheteh qel Tal Xd |
b) UHMHMTH TaehITUTh THIT SeHeieh a2l ¥ W |
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(a) TS 9 il et
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d) T A EE
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34, T Tl 9 S 3cUs] ol Hehdl © : 1

(a) HIA e |

(b) haTl STIIES T |

(c) oTIed T qAT STIIRY W |
(

d) T8 A T A B SATIE T |

35. e faanefl 3w fictent o1 qoemae O & e Toeh aof W g8l weidia Ofd &% erqan feen . 1

Smooth Table

L
% e TR ¥ ot § 38% god foR Q I IRTHM Tk TR T 3wl R Tehell © 2
(a) TSI O % | 45° % HIT W
b) TR Sl TR o HWP-FY A q&91 9 |
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d) 9 a1 TE SR |
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36. T&A AU S foh TATEAMISY i YeASHN o e TgaH & fore ueh fomneff i Ferar #X 1
bl ©
(a) dqd AT
(b) TR T SRR HIfSTRIT |
(c) Hitch-FHefaa FARIRE T dg TG H= T |
(d) e wifvreRr fafa qen aIEt h e |

37. fr=fafed oeu ¥ sifsq A, BasnC s g : 1

(a) I, BF qAA g (b) FAH, Id qA BA
(c) o, FH qe1 dq (d) Id, FH qe B
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38. UEY 37 i fAfefEd | Sy eRo7 s © 1

(@) B (b) C © A d D

39. A" STfarEfua § gRT 1
(a) Y & TR YA <k W (b) < YR o Y€ q1 &1 TR & TF |
(c) oS eyt o0 (d) IS FA SIS HR R g

40. frafafea aemi § 9 &M a1 SHgsii o S 99 § W@ ¢ ? 1
(a) dfed Tl (b) <ifda <E|
(© HEl (d) T

41. Trafafaa siei A, B, CA D H | 57 § T @& € <1 5 S¢ TAM 99 & TH <4 € 1

(B)
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